OMB CONTROL NO.					TITLE OF INFORMATION COLLECTION REQUEST									DATE PREPARED		
0579-0189														July 16, 2021		
TYPE OF REQUEST					Control of Chronic Wasting Disease								PUBLIC COMMENT DOCKET NO			
	Renewal													APHIS 2021-0004		
POIN	IT OF (CONT	ACT											FEDERAL REGISTER NOTICE		
Dr.	. Jenni	ifer Si	embi	eda										86 FR 12901		
TELE	PHON													FEDERAL REGIS		
	(970)	494-	7412											March 5, 2021		
PART I - SUMMARY																
	TOTAL F			S	TOTAL ANNUAL RESPONSES		% ELECTRONIC	RESPONSES PER RESPONI		DENT TOTAL BURDEN HOURS			HOURS PER RESPONSE		% SMALL ENTITIES	
		9,053	3		7	78,128	50%		9		3	322,546	4.128		75%	
							F	PART	II - LIST OF ACTIV	ITIES		_				
TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE			RITY C., CFR, or fanual)	ACTIVITY DESCRIPTION (title, respondent type)	DN pe, and type of change if discretion	onary)	FORM NO.	FOR	MAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS	
(A)	(B)	(C)	(D)		(E)		(F)		(G)	(H	H)	(1)	(J)	(K)	(L)	
Е	S1	×	I	9 CFR 55.23(a)		Memorandum of Understanding Between States and APHIS Health Authorities		een				28	28	8.000	224	
Е	S1		I	9 CFR 55.23(a); 9 CFR 55.22(b)		Herd Certification	Chronic Wasting Disea on Program Approval, instatement of a State			VS :	11-2	28	28	20.000	560	
Е	P1	Х	I	9 CFR 55.23(a); 9 CFR 55.22(b)		Herd Certification	Chronic Wasting Disea on Program Approval, instatement of a State			VS :	11-2	1	1	20.000	20	
E	S1		I	9 CFR 55.23(a) and (b); 9 CFR 55.8		Lab Submission	Reports/Testing			VS :	10-4	28	10,080	0.500	5,040	
E	P1		_		55.23(a) ; 9 CFR	Lab Submission Reports/Testing			VS :	10-4	2,267	10,202	4.000	40,808		
E	P3	Х	ı	9 CFR 55.23(a) and (b); 9 CFR 55.8		Lab Submission Reports/Testing			VS :	10-4	23	10,097	0.830	8,381		
Е	P1		TP	9 CFR CFR 81	55.25; 9 1.2	Farmed/Captive	Cervid ID					2,267	2,267	8.000	18,136	

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
Е	P1	Х	I	9 CFR 55.23(b)	Report of Cervid Disappearances, Escapes, and Deaths			9,000	9,000	0.167	1,503
Е	S1		I	9 CFR55.23(b)	Report of Cervid Disappearances, Escapes, and Deaths			28	8,988	0.167	1,501
Е	P1		I	9 CFR 55.1	Herd or Premises Plan			76	76	10.000	760
Е	S1		I	9 CFR 55.1	Herd or Premises Plan			8	80	20.000	1,600
	S1		I	9 CFR 55.23(a)	Annual Reports for Herd Certification Program Renewal			28	28	10.000	280
	S1		I	9 CFR 55.23(a)	Approved State CWD Herd Certification Program Reviews			1	1	20.000	20
Е	P1		I	9 CFR 55.23(a) and (b)	Epidemiological Investigations			76	76	20.000	1,520
Е	S1		I	9 CFR 55.23(a) and (b)	Epidemiological Investigations			8	80	40.000	3,200
	P1		I	9 CFR 55.3; 9 CFR 55.5	Appraisal, Destruction, and Payment of Indemnity		VS 1-23	76	76	1.000	76
	P1		I	9 CFR 55.24(c) (1)	Letter to Appeal Suspension, Cancellation, or Change in Status			1	1	1.000	1
Е	P1		I	9 CFR 81.3; 9 CFR 81.4	Interstate Certificate of Veterinary Inspection			2,267	11,335	2.000	22,670
Е	S1		I	9 CFR 81.3; 9 CFR 81.4	Interstate Certificate of Veterinary Inspection			28	8,400	2.000	16,800

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS Or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	S1		TP	9 CFR 81.2; 9 CFR 81.4	Wild Cervid Identification, ICVI, and Surveillance Data for Interstate Movement			4	4	10.000	40
E	P1		I	9 CFR 55.23(b)	Inspections and Inventories; Herd Records			2,267	2,267	14	31,738
D	P1		R	9 CFR 55.23(b)	Inspections and Inventories; Herd Records (Recordkeeping)			2,500	2,500	50	125,000
E	S1		_	9 CFR 55.23(b)	Inspections and Inventories; Herd Records			28	2,268	14	31,752
D	S1		R		Inspections and Inventories; Herd Records (Recordkeeping)			30	30	300	9,000
D	P1		I	VSC 9002 1	CWD Inspection Report for Exemption on Testing Cervids Moved from an HCP Breeding Herd to a Hunting Preserve Under the Same Ownership (NEW)			10	10	40.000	400
D	S1		I		Cooperative Agreement (NEW)			24	24	5.000	120
D	S3	Х	I		Cooperative Agreement (NEW)			1	1	5.000	5
D	S1		I		Cooperative Agreement workplan (NEW)			24	24	5.000	120
D	S3		I		Cooperative Agreement workplan (NEW)			1	1	5.000	5
D	S1		I		Cooperative agreement financial plan (NEW)			24	24	10.000	240
D	S3		I		Cooperative agreement financial plan (NEW)			1	1	10.000	10

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OF RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
D	S1		I		Cooperative agreement quarterly report (NEW)			24	96	10.000	960
D	S3		Ι		Cooperative agreement quarterly report (NEW)			1	4	10.000	40
D	P1		Ι		Laboratory Disinfection Worksheet (NEW)			15	15	0.500	8
D	S1		I		Laboratory Disinfection Worksheet (NEW)			15	15	0.500	8